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ExERCISES C1.1)

In egxelClses -4 Fl’ﬂ(}- 'Eﬁe J,t'sfance befween %‘Pze
pair of points.

- (3,0 & (s5,5) 2. (-253) &(-3,-4)
3. (0,58 & (2,-6) Ao (Hy) 8 (=91 50)

Tn exeri’ses S —~ 3o SKG‘[:CI'\ ‘\‘:Ee %ra.ph O.F J;Ee',

ecruw&(on.
S - 9(2, +31::‘5 6 - Q,zcz-t-‘S‘d:c
F. % 434=98 B- 33X —-SY = |
Q- 22 -4Y4 =0 o S 42 =3
. 34-2 =o 12. K49 =~e
13- 9W'-3x:zo0 4. W sk =0
5. 4% -y = o 16 - 3x*4+64=18
7. sx*-2y4* -2 18- 6x* =3 4+124
9. 32% =15 -39 20 - 2% 4+ & =\
21 4%t _ 164362 ~10B =0 29 - 42" 1 QYL Bx +36y 4
23. 3B £124+5 =0 24 W_6Y +4% 41F=0
25. 22 13X -9y +5=0 Ca26. 2 _uw L4 =0
27. K+ = o 23 - 3962»—&\2:5%4-45-;-1

aq. 3961-1-9-3’.;.69&—-8 W+ 10 =o
30~ ‘2962_.:9.-’26 ::4-3..9.52 —-15
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Examples:
U zn probLems N (I \:\‘n,cl +Re Cartesian
CooY&inates o,s? ‘hg,e Po!’n‘(: WH:Q; PoLar Coofc&.fna:tes
O p3,0) ®pC5sT) @K Y2 5 3Z)
3
® pi,7) ® plusx) ©p(2535)

@ plosry @ p(2.35) @RS, EE)

f(—ﬂ:é‘;) @ p(-2,3)

i)

SoLuI® 6(3,0) @ [3(055) @P(o,-ﬁ)
2 3
@ﬁ.("‘ao)
® v x:=vGso 2 x = HCASW =4(03) = 2\3

and 3 YSine => M = H‘Snn—c-qL 5 -9
Thus , In Cartesian Con(ok\ﬂies ,-&Re pom{: vs (243,2)

© - x=YCoso =x=20Cs3T =2(L) - -
‘2-
W= ¥ sine = 28Iin371® =2( L\ = Y2
N ‘ o (\lz)

ThAws , (a Cartesian C_oo’fbhn&es ,‘(:Qe Pofﬂ'(? (s (=2 o¥2).

@ =68 = k= s5T =

\

, , 3 2
and W =Y Snhe = &23\'”5_;5=——f§
2

Thus , i Cartesian Cooﬁlmap:es ,+Re pom‘f: {s L PRAEY
@ - x=2Cos X —QL—E) -z *
and N -2 Sin?é‘t = 9-(— -
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Thus 5 tw Cartesian Coo‘rclir\o’fkes > the )’)o\’n‘(: s (~¥2,-)

@ =6 Qsl6F =6 Gs(4E 47) =6Cos4T

)
“x=z6(-L) =-3
and W= 6 s\nlé“t = €Slﬂ(4—t+4—r) = £sin LFK

S~ 3= 6(—3) -3Y3

Thus , i Cartesian C’oorel(na&es » ‘EP\e Pon‘n‘e 'S
(-3 3‘3@)

\,'x,:-QCOSS :-z(—r)_ﬁ
and \A:——:zsm‘sq = z(‘ 3’ = Y2

Thus » Im Cartesian rotmotkes ,-Qﬁe PO\Y\‘(: ['s Qﬁ,i‘)

@ v x=Y¥loso= x=--20Gs3 = .98
W=Y Qine = YW=-2Sn3 ~ -0.28

The Tec;'(:angu.\_af Pom‘ﬁ (s (-2653 5-25M3) , which
ls Lo Cd,éeom cik aﬂor‘ogumﬂ%el—a (1-99 5 —0-28)

r_ﬁ] In exercises | — lo, F,Y\A {:}oue PoLar‘ Coordmafes
of the point with cartesian Coord)

© (o 5 4) @ (o0,-5) ® (2, 02)
@ (-1 50) @ (1,1) 6® (-252(3)
@ (-2(3,-2) @ (6,2z) ® (3.2)
@ -1 5-3)

Solw: © PCOJ‘()
u&u\»‘ﬂ Z’CL\Q‘:QA\U\_&\_RA b.:rjl:\ ngacpts\:dgs\JPCL)o’:s,.\

—— s

@ P(Oo-’g)
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SISWNTIL S 3 %ﬁ‘ubdﬁwﬂx\)m@&@?’
pla,o) GRS

@ PL—‘: O)
G\;\\».‘\I;‘Gdc_kml b OLs @ QALY X' ) gome ke deal 5 P -
P(‘JTC) &.); %&;\\

@ P(\J))

5

PO Cams Jad) M2 ddals pakelll

‘14—& {—'T

QM\-. o = Jcan@&)-fca%‘m_—%c

v @ - l{; L J‘g“ﬁ\EJ} ) ‘
PUVELE) o Aoball S\BL ) g pakEl) Gl iy
@ PL‘Q 92\(_—)
PO Caom g @Y Egﬁ\td&s\j CBESR I

:m = Jy+12 = Lx‘\ 1
and : © = tan Q_;%) = £ an C?_:_‘g‘f’.):‘(:a‘;‘Gﬁ)
- - 9T - | :
6 =z-T = 2Z QU SNFIR XY

Thuws , in poqu‘ C"oord,(/ufes, -E)Qe poimf IS )’J(q,%_g_c

@ p-21@ ,-2)

K.Jiu E\,& Ld@_s\\sw\a;\&bqg_bl\;
e T=Vx2 W = Viz+4 -‘+ ‘
and: B = Lan'( %) ;'ban(:m) = +an (Y__)
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Thws , PoLa?" Coo'fotfna%ee ,‘(:Re, Pofn‘& /s }9(1-{-,%67_?1

J’-)(é,"'zﬁ)

N —

16% S 5 Bl}\ E\Jg\Léaﬁ:b\\e F:LJ-{SAM -
r=vVarry? =V36+12 =VFg = 4V=

and i @ =taR () = tan (=203 ) = tan' (-
x 6

N

|
3
S8 =TT o= UT ( pllpllie)

Thuws , (n PoLaF @orob‘nail:es ,‘Eﬁe Pov’.,.,ﬁ. g PLHG"‘%E)

@ ]9(3:2)

R R I IR TSP - SR I
= {oiry* =9+ =113
and @.z{;aa‘c_gz) :ﬁa%‘(%)

e =tan () (Ao o 4a) 9@ Gua)
Thus , Ga polar Gotdindtes , tfe point [s p(I13 ,{:a—;\‘(%)>
pl—=! 5,-3)

o Gom 5 GAA @)\'ﬁijw\ simGl Ho
=2 =VI+ X =470
and. ! B :baﬁ’(%) = tan t’é) -tan (3)
=
~ @ = 7c +tan3 (S e N 20)
Thus , o FoLqr @oTab'ﬂCi@S ;‘H}Le pomg:—\{s ‘
P (‘(T(_) ,'J'C-l-‘{',q—v{3 )

Fl'n& all POLQT Coofdinate YePreSenta;t:‘ons LoT
-l:ae reC,éana U.Lqr Po{n-{;s

@ PC3,53) ® p2,2) @ p(3.,-)

| SOLLI @ P(3:5)




E AT P T8 0) B em o aln

and-y  B8=tan (ﬂ) Lan' (1)
N = T ( Q3\£§'&U.Hae)

|

(3V2.,T) @awj,éx\u\& b=l & p AL 6 s
- da_;»np.u o s Fploial)  Wamdt s
Lsﬁ.,_+ ) oy (—3(:1 4+2n‘lt) sNEI

@ 'QL‘;Q-JQ)
OV Gy LY g b e TdsE
V= (oc+3= =V 444 -@-2\(—
and: 6=tan Lﬁ') chﬁ'( 1)
~@=7-x =3F (QLEN ol ie)
P2 ,3E) @ ehal) cllall € p ALEN Lol 0353
Pl s T HAEN sk a2

1

plafa,3x +2nT) or playa 3%'{_‘4_2»*)71‘) neLT

© pezs-)
u\uob_g E\v;\\ J\‘L%\s%\ DAD
= (T =T -
and- S QZ‘Ean (é.) =tan T-'CS—‘)
N - 9.77—'&0:7\‘(-{3) of & :_«{;q‘yk_

o (M V2 e
\ P(.Ts':—tan(-g)) @Mg\?wm \ 6 3o

A s dbE\ aakh q&gsg\ UL wF .\')\;}3
P(“F’: ""6“”( 3 +2NT) o PU_S_‘ s—tan LJ—) +TC+2N1)

*




=y T 1) A s S Lo L

4l Tn exercises .1-4. ,change the cartesian
ecru,adi:‘on In £o a.'FoLCLY" e?u.a'il'oﬂ.'

O x+38°=9 ® -y =5
@ 2z4y=3 @ x+34 =2
Solan s

® - ’X-l-t-tf =9 > Y‘z.:q =S ¥ =3 oY YT =—-3

2 2 | Z ’ 2
@ oy =6 = (fGse)-(rsing) =65
. yzcos"e—r“sir?@ =5 = Y*(Gée -sine) =5
X (5286 =5 =, y*= 5 secag .

@ 2y =3 = (Gse)(fsine) =3 =>Y"(Lsin26)=3
LXE = 6 Cscas .

@ %+39=2 = rGsO+3rsnNG =2

o ( Gso+r3zsing) =2 = vy = 2
Qs+ 3Sing

[5:1 In ProbLems ‘@anol@ 7F!‘Y\0Q ar€C7.L,anauLaT
chu,o‘.ﬂ:mﬂ ecruéya,Qen‘t ‘(}0 ‘EB.& PoLa‘r ec’»\,ui&]'on;

0 @:.Z}E @TZ&OLV\Q
Sol-u)

_ ~) _ 7T T
©e-F = tan($)=F > %\Z_q&am?)

S - L = =3y

x 3 )
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2 _ 2__ Lf“ &

6l skebch the dqraph of: r= 1+ CGse
Su\M
el el 2 G
;axs\aj.\Lw € Yé¢o V\suc:u& R C
(5\-’7“&(5'\:_ dsé.:u\\ wl w_\—&::::\‘&—p_\j

8 o = Y
K3 P
Y | 2 [32] | R
(5’
| (o
Y “

4 N
%+H+2%ﬁ 2% &_'2%3 —Lsg’v\__\\g.soé\ \EG(:QJE)JA US|

Eﬂ Tn exelcises | — , k(s (Tibe th
the polar eq,wa:l:lon : ° PR of
0o-x -1
3 | @ & —-_EE ® Ylse=-2
@ Ysine = -\ ® =3 ® r=-3
Y - y
@ L4sSiné Y= 6 &Gso @Y=-gGsabsinG

r = log® — SING
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SQL-UL @ 6 ;’C = ‘Ean(__.)__z = __.__‘[Zanﬁq_)

TRl = yW=2
v
gs-nc..m *\%JG M DEL%J&:‘A g)j.,,&l\@_s
- Ciowlaill L=l = 5 2) GABY 5 A oY) G\

Maéo\:&@ o= x %»LQ\QJBL\bLsdAxﬁ
‘@a.sj QW&SL

@AQ\J&:‘L\E WL&«\NL@@,E
- (22l s

ARV ; ORwn San sl (@
el Al s ) - (e L3 40505 Rhay (il TN ©
U\lu&bjg& (g

\J’S\j i\ M}LJG“\\_&JLQ\) u\h‘.suL \‘\cbi\ S

B Ylse =2 == % =2
. o —O\\J\sua@j

@ Ysme =-1 = 4=-\
“- 5 o R

@ =3 = Yaxiiy =3 =}>9¢2+:32=CY
- » g hal o
3o A2 Goad s (bl bRl LA ALE Lasie 35l 2olad @

© r=-3 = Vo'l =-3 = 21 4 =9
(3 L by el HLRL oS 88 2ola2 @




e/ 8 ) (DaesxeSueus

@ r=tfsine = r=H(L) > Y =043

S R N S T
L Wy rh =l = 4 (8-2) = 4
(9.)\_@}_5 G 5 ((0,2) \-&35\36 Qj PARYETS @j

r=6CGse =>r=6(%) > T =6%

> gcz.;_g & ¢ :> 'ac—égc+t5 =
XKogx +9 + ¥ =9 = Q’BL—3)2 + t&n = 14
. (3) @}3 @Gad9 (Bs0) LaFs 5 30 &bl G
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Examples:

|. Convert £rom Y‘e.C,’(:qnsu,La.Y‘ to Q&LmAr{c&L
Coordindes :

O (hsr4 5-3) @ (2,23 4) @ (—2,-1,-3)

@(03110) @ (o,0351) @LEJ'—G.’\)

Soluy OP(4sH,-3)

e Y= (2442 = N+ = {32 = 47Z

& :‘ﬁa‘h’(%):’tq‘h‘(l) (D™ E\ﬁ\i@)
N8 =1
T
and. Z2--3

Thus , (n CSLn'nAY(Ca,a Cooroh’notke.s ,‘&‘Re Pox’nﬁ 'S 3
pP(4Vz , % s-3) .

@ p(-2,2V3 5 4)

sz g ={'r @R = 4
A 8 :ﬂq—ﬁ\(%) = ﬁaﬁk%@) :‘Eaﬁj(-—ﬁ)
Qg\.."}i\ E\)M L§ dasly. 8 Cue s

W 6 = TC"' :-’-—-C = 2.___-
3 3
and . Z = ¢

Thus , (h Cy Lindrer cel Coorim aJ('eS » ‘(:g.é Po mt Is: F(Lf s 2T, Lf)
3

® pl-2,-15-3)

-2 Y‘:&’—&- 9? - (-2)2-;-(-!)—? - s
- ~1 - I )
X@:ﬁan(%)‘:’taﬂ(%):ﬂqn(i) KMN\‘(__A_\J\\ZQ_:)
“ 8 =T +tan (-;_—)
anol-‘. Z2=-3
ThUS 5 CﬁLma(fi'Ca/Q CoorAfnaies P '&Ee po:'n{? IS
P{s > Trtan () ,-3)
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@ P02, 0)

The l’)ol'ﬂ'(: in chmolh'Ca.L Coordinates vs:
P( 2 3 7-25 P! O)

G plo,o,1)

The Pamé 'n C&L;’Y\o(Y‘iCa.(, Ci,oroh‘no&es b S ; P(_o, 0s1)

© pUE,—f2s1)
o r=V{aire =NE2rsEEP -2
R g =-+tm (%) = fq'hlﬂj_‘@_) = Lan (1) QEU\BJJ‘Z', @ Cup)
“@=z2T-% = IX V2
g -7
and: Z=I
Thus , Cn CﬁLz'no['ﬁ'Ca.L CooY‘cL(na.ées s the pm’n‘(:’ 'S

o( 25 7T , 1) .
pL25 %

|

12| Gonvert Lrom Cng'ncLT\'Ca.L to Fec{:a.nau,\__aﬁr
Cocrdinates :

©(3,7T,5-2) @ (-2,3%,5) @U,%,3)

@Q‘sa“%,“) @(2:%‘: 2 =8)

Solv: © P( 3,7 5-2)
The POV;A”E in Cartesian Cooro'lt'ﬂates 1'3119("3; OJ—'Z)

@ pl-2,3ZF ,5)
P 3 , | ’ |
The pornt in Cartesian Coovdkin ites is: pPlos2 > 5)

@ }3(‘ 2 % 53)

v x=(Coso =() Cs JQ-.
L v=Ygne= L)SinE = 3
and Zz3 =
Tus, in Cartesian @oroti'mafes s P(j‘. fg_ , 3)

ald
1"




T el J AT ) EVAesimobab,

@ P(S’_——f)q')

cx=YCes® =5 @st_'éq)-_-S(El:) -
A \j:TSM@—_—_S S]’n(__é_r):sL__?)
dnd: Z= &

Thus , cn Cavtesian Cooroh'na‘ﬂ:es g P(%_,—-S_:E{_g, L{-)

2
2
2

® pL2,3r, -¢)

o X=YCs@ :.‘ZC’osS_L::E :2(-—\(_};) = —y2
A 9 =Ysing :QSMS_;J_: :2(4_\_?): 2
a,not Y 2= =6 2
Thus , (n Cattesian G;ora\.(no&es Is . P<-ﬁ’ﬁ"'6)'
3l Thn exercises .1 —1o wYite the Qrven eq(wzb‘on
n c&Liniﬁ'ca/Q Cao'v’“ak\’n&kes 3
O 22°4+24" 32-8=o @ x>+ 3*y 2= 16
@® 2z 1o -2 4y &) 2= - o?
® 2 +4* =6 (x-2) W =4
@ Z =2x*+ ¥? Z = Cos(2*+349)
A = 2C

3X-2Y+52 = F
solu: ® 9.96—1-4-25"_3%-—8:0 =>2C9Cl+-tsz)~32~8:o
2T _32-8=0c =~>ar =32Z+8

® X+ z2¥=16 =y z=1Is

@ Z’:')Cz+ Ql_ﬁx—l- ¥y = zZ = Y‘2_2YG956 +Ysimo.

2 2 > 2 2 . 2
@ Z = 2L 4 = 2 =(rCese) — (rsine) .
2 .
L 2o vrPode—visine = 2*2 v (Gse-sine)
o Zov?Cos2e




E 2], 0 271
@ x4 *dz

VATV

- (16 => Y*=16

W) A S\ s

=> r =4 ol ! Y =-4

-

2 2 2 "———'2
©® (x-2) + 4" =4 = 2 g4xr4+48 = ¢

2 2 2
’36_.;_&1_./-}2( = =S VY _4VrG@Gse =Y -4 Gse
Then =4 s @ T Y=o

TR rohGse Goud) e € dhTille dny ol dkisy 105 Tes Gf S

Y=4 Cos© & Wolzll
@ Z=x*+ 4 = 2Z2=1"7
® 2z - (s y*) = 2= Qsy’
G v=x2 = o0 =2 £an =l 20 =Lanw
‘:9:2—;‘ 0“(‘19:5_475

S 28 +52 =F =5 3rGsS6 —2rsin@rS5Z2=1

[2'{—:( In exercises (— 8 , an e—crwd:‘bﬂ 's g¥ven 'n
C\dLa'naLC‘ﬁ'C&L Cc,gqu.kn,ai:e,s, E"X—Fre S5 ‘tﬁ.a
eé?\uj&fon ('n rQC‘&anauLQYi

GO Z2=r @ Z=4-r" @Gr:2seco

@ o6-%% G r=%

@ v-8 G5

) & 2=v?
(+2 =)

SolMZ Q) Z2=Y = Z = v x"*—ﬁt

—

A
= 270 20 vyt

@ Z=H-T" > Z=h-2"-9 = x'+y +Z=4
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\) a?__ﬁs,\@c\:m\;{)

@) r=asece =2 Y = Z  =r&Gse =2 =2 X2
s
@ 6:-%C = tan(Y) - ET N =
— — T = = ;eo‘m{_
4 ?C) “ ¢ “
A:,—\ '9'5:-—%.
"(,
® r=3 = X =3 x*y 8" =9

© 2= y?

= zZz= % 4 ¥

@Y‘:S

Cos@ => ‘rtz @Y (o s @ :3>9c,2'+51: B X

ot o8+ 8z = (-4t 4 =16

2~ _2
B v L Z =) = xPrygrazio
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EXERCISES (2-2)

U Tn exercises | _ , Conver-< Ryrom TectqnngqY'
to C%LI.VLDerCGLL Ceoro\mafeS:

© Lo/ 3/ 0) ®(54530) @('L‘JL}J¥)

@ (“4,-4 ,-2) G (—4Y3,-4,2) © (V3,-1, 3)

@ In eXer(cises |1—- 4 ,C;,m\/er-f {irom C’.&L)‘Y\c’kh‘COLL
to Cartesian eeo’rdfnates:

© H-3F ,-1) @(6:3:;,4) ® (557,0)

@U,,.%E,—s) © (3, o,4) @(q,%&,s)

e

E_X In exeYcises |1 -6 , Cnvert —(’;ﬁ¢ e,?w;e:don
into C:SL\'YIOL’G'C&L CeoYdinafes:

@ x*+ 9 =) @ x"+9+2*=3
@B y=3X+Z @ 2* = 2 L 9?2
G 2z = YaxX+ay? ® 9 -2 =qY4x

@ In exXeverses |- 6 . convert ‘EPLC- %\L&k"on
‘nta /\”c_c’canaud.ar Cooldinikes :

© Z+r*=3 @ r=s

@ & =1% @ Z+vr=2

G 2 :r%cézasze ® 22 -Y’sinze =,
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C:SJ,“ | D l 4 ya NS 2 = -

f

'f:anez,;;% A e:ﬂa;l;(éa)

and s Eang VEES 8 B = tan (Ve ).
z Z

G, PGB, e Sh el @ abE ke dessl

L S = AUV
x = Psing (osé
Y= f sing sin®

Z=F CoSg
Go ! TN AL (360 0 Tl g ahm Sliha oo -2
f:¢‘252+32+22
=1 \ _ -
Q—'-‘-‘Ean(-:—é) - <u,x®g\6:)m\&g\;w® o
o £ © £ 25T
aw\ol? |
2 LG asn B B e len
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Examples:

U Convert from sphef{&tﬁ to TYectangular
Cootdinates :

@csﬂz_f,g) @ (2,5 -ZF,8%) ® (2 Z,0)

® (4,0,7) ® (“.Z,0) (B (33T TL.E

solu: ® P 3:;—5:{-{)
= fPSing CoS@ =3SinE CsT =3 ’_)(o) = o
3-PFP sing Sine = 3SInE sinZ=

Z2-p Co =3 CGsTT - L
P Cos & 3 Cos T 3(5) =

Tuws , i Carfesian Coordinates g{:ﬁe ()ol'né (S :
3 3
O = =
F( 2 E 2 \[E)

@ P(QJ‘ggs%c-)
L=FfSing Coso =2 Sin(5x) Cés(—%‘.): 2(_’53(3‘__):2_‘_

4 =P Sing sine —-2Sm(57t Ysin (CZ) =2( L) (- ) - -3
Z=f Cos¢ = 2@:5@5%’5) =2E3E)= -3
2.

Thus , In Caf—(:esx'a.n Coo(o(\'nafces s {:Re pofn{: s :
Pl s= __ 5=13) .

if @ PCQ)E ;O)
2 fsmsé CoS® = 2Sindo) cosv' =2 (o) (

1
F) =0

Q= ?Sm¢ Sin® =2Sinld) S\n(ﬂ) 2(0)(r) o
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2= PCos@d =2CosCo) =2€1) = 2C1) =2

Thus , /n Cartesian Coofdinates ,{ae Pox‘nf 1S
P L OJ O 9.)

@ P(#)OQTC)
=P 8NP oS8 = 4 SN () Gos (o) =4(0)(1) = o
Yy=PSng S0 = 4 Sin() Sin(e) = 4(o)(0) = o
Z = fCJQ§¢ :A"C—O$LTC): 4(-‘4) = -4
Thus » 1h Cartesian Ceordindtes , the point [g
PLO/ OJ"A‘) .
@ F(Lfﬁ% JO)
x=fSing Gose = = 4 Sin (o) eeS(TC) =0
4=Fsing sine = 4Sinp) 3).4(7') =
2= fPCosp =4 (Cos(0) =4
Thus , in Ca¥tesian Coordinates 5 e f)o)'nt s
P( ©,0 5 4)
@ P(ﬁ 7C 71:)
»x =fsing CQSG_FSW\(K)CQSCSW) \(—(v—)(—i) p—
2 Ya Yz
y=Fsing sind = \(—Sw\(,__)ssn(z’w) Va2 v%) (&) = =

z=F Cso -rzCész=vz (g) =

Thus , Ca.ﬁéesm_n coo“r@kma'fes 7f£c Pom{'

PCs s vz )

o o N e
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]__3_( Convert ,{.’.rgm fecéangul.ar to sp’he)ﬂ*CayL
Coo‘(‘o\fno&:es N

® (2,2,2) @ (3/0,-3) @ (\,{Es-2)

@ L‘J"‘jﬁ) @ (‘5{3;‘5/0) @("\J——ﬁ:-i)

salu: ® PC2,2,2)
v PV g2 N@Ay @42 =412 = 2V3

ML@:{—,Q;,‘(&& ) = tan' (%) = z (A% g 1e)
a ¢ ‘E r—‘x+3;l) é—-\( %-H-l) __é “\(i\/—) fqn (\fi

,9“7@\3}2525\—’"9

Thus , W\ §Phchc,ad_ Coerobnailies Jcﬁc Pom(: (g
(2\[— s 2= 4 Q"‘( )

@ P(S/ O "3)
v P =gtz =Yoto4q =37

:Joavx‘g%):ta%‘(o)-:o (—s%i g Nie)

omoL

Uz"«-&‘) £ av (3) Lan (-0
WA S A - P o W

— &

pn

Thws 5 n SF)‘\CY!AC&DQ Coorck\'naf%es » the Po\;w‘(? Vg
pPL35 05 37’."3) -

- ¢ = T~ %E—:Sjt

@(9(lﬁﬁ:—2)
f \(x w2 —\/U>+(ﬁ)+(-z)°’ V& = 2Y7




SO e Fi /50 g aae SLWeb,

NG = T
3
O\V\(L: ,
§ =Ll ()~ el (V5 ) - £ (1)
Z

ng\___,A\EJi\aﬁmﬁ

Thus » tn gpheﬁCa,L Qoo‘rclxna‘&es ,{Pu: )’?o\/w‘t rg ;
P(Q‘ri )—%—C 31_;[:)

@ PQl:-—‘:F)
P = \/x.;.t\-;-%‘ :ﬁ’)-FL‘)-!-U—)Q -2
X@:&JR(%; = + o (‘x ~ LaW(=Y)

LM LMo s s

andk “4 -
¢ = -éq“l(m) - ’é:a@\‘ C \/(\)1_‘..(__‘)2): -é:;{n& ( E)
= tad () B vz

Thus , spkeh’ci Cooldinales . the pou’w"& i’

P(QJ%CJ-Z‘:

@P(‘5ﬁ5510)
v Pl 22 = {5V 4 (5)' @* = 1o
2 o= '(:afn'( )—6an(5 ) =t (%)
%)L_A E‘}\‘LQQ:N,B_s

SV3




QSJ:;A\QQ_&?\,\?Q.}I,‘/\’ / 51 // W A a3\
Thus 5 Ln gpkeri'ca.L Cool oll'fw.'hiS ,{:Re poiné ]
PCIO 2 STSE 2 ;—E) .

.Fc s —V3 ,-2)
. ,B+d+z -\/en)+<-r)+<z)’ = 2V2
e—‘f:czn(.i_)_‘é (;):ﬁaﬁ‘({—_) .

B fee Vs

3

& = qn(\/zugf)_& d(-&)-*-(—ﬁ)z) Lar (=1)
\.’:L___.A\E\Jii«ﬁﬁu\mj

wTS

\L¢:‘j‘f.—m—-31‘c.

—

F
Thus , in sphery el coordinddes the po it Is:
P (2YV2 , L*W 3Tc )

@ In exefcises |- 6 , Convert the earwﬂ::on (nto
SpheY‘lCa.L Cco’roltnaies

O K4+ 42i=q @ ==y ® =2

@ 2=ty @ 2°= iy ©® 2=13G5D

solu: O .- gcz-;. 314- Zz: = j’z =9 = f£:=3 (or:_p:-g)

@ x=94 > f£sing Cos® —fsfngf SING 2 Gse=She
L CoS® = CLSC’V 6)5@,‘;‘7-® = 28 = ">@-Z,~"
@T—QJM\/\;—W@A qéo-,_@( f-am

— _— = — e Y ———

® 2=2 = Plspb =2 = P-28ecd .

@ 2’z 2 —y* ‘> r£* cossé J’sm¢Cese - £ sm¢ site
% fzcoszgé =f *sint o (Cosg Sin®)




SANWD T /52 W Ao o

S Gtrd = Cosae . = Gt - Gs26 o .
Cot?p - CoS28 0 um\gum\,@,g\pg\%&: = o dua
@ z* “954-3 —> chS;é 5’ S\n¢es5®+f$sn¢8m6
Pl = Plsin ¢(C'os<a+3me)
- p? Q,s;i £ $w\¢ = C’os¢ -Smgzﬁ or: Pso
/Cci?¢—3\ﬂ¢ = o ~‘> coS‘l¢"0-32¢-..~>;é"’¢

w——

C® N\l oIS S QJ\A‘M&U\L&-}_?“O C‘»Q

© Z:=Vscx*+r ) = fC’osgb (3 siidglcole+sirtel
P CesP = 3fsidE D Plosg srPSing
f[CoS¢ GESn@glze =fz0 o GsF-(Ising =
 CoS - {:cm'f Sian-'oécos—wcgsgb S\Y\Ts\nsé—o >C;;SLTC+¢) o

Gs&_m) Cos“’-wﬁ—-—- > b= |
& = o&s\sf\gs\s@-\j &o&\d«a Qis’ Pro G Geas
¢ __? ; D (@) \sl) Csj—-\‘g

@In exercises -4 > Convert {-ﬂe e,qf-\,uaf:on tinto
TeC*(:a,nauLaT Coorck\rwtes

@_f an¢ Cos26 = 4 @ f£=5
@ ¢=% B f=4Coso

.2 2 .2 .2
SOLu LQ - P sSIAg Cosae = 4 P sing(GSe -sine) = 4
. fzsfvf¢ COSI@ —fzsfﬂa¢ Sin@ = 4 = x* &‘2_: 4

® f=5 > p*:25 > K+ypz?-25

R ¢ = £an (E¥ - TEN Vo2 +% _ LanT
z Z
2 Ly oz =T )
2z

@ Pztcosp > PP=4fGst > vyt 2 ouz
Pt g 2 aZ2 = = 2 ¥ (2-2) =4
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EXERCISES (2-3)

Il Tn exercigses )-g . Convert {Re sPheY{Ca«Q
Pofﬂ‘é’ (f:®:¢) fnfc TeC{anauLaY‘ CooT‘oUrLdkeSZ

@(3:§ ,%—r) @(qag,WB @(6:2’%;1_5)
©l,-z,s%) © (2,3 ,87) @ (s,3%,0)

@ In exercrises -9 , Convert 'Eﬁ.c Fac{:anaul—q\'
Pofn’c Cxsr49,2) imto spheﬁ'ucl_ Qorolx'nm')aCeSz

Q (V)543 @ (t,- \3) U5 1, -y3)
@ (~,1,43) & L-10m) @ (curs-va)

@ (V.- ,-N3) (12G,00 @ (o,4,0)

@ ITn exeY Cises | _ & Conver6 -Eﬂe e/a(-u.ikl‘oﬂ fnto
sphe‘(fcch Cool dindkes :

0 x 42t =3 @ x+34+Z=o

B x*. &2+ CZ2-1)Y = @ %-&-m = o

@ **L 9*=-q @ z=o

I <n exercises 1-8 , Converld e egrwsﬂ:\‘on into
\(ecfmmgul_.ar Cgord{na,(cs:

@ ¢ :%E @ P =4

® £*.4 8fzéosz¢ =q @ Cos2 g = o

® Psing =2 cose @ f =5secg .

@ 6 -x @ Ptang —csce .

pry

ol
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oLstht Bsoals dlodl 18
!}umc%fons o_F severaﬁ Vqr\'a\oLes.

Jpj( \«S‘g\ %Ls\LL—m LS (5\3\ u\_ﬁ\ G d\_ﬁ\ -\_o-d;
Lade sl G0 LR L am S \_A\J@‘&Mg\_&\ SRR

Mu\mw
.udgA;i\ A 5 GB\AL Al LA\ML\ &3; 3

o

_\>\\5J\xs PURII Vo &\ |\ L§ ahai k! ._sb«.s.»L SAL Lt 3
\.;g;sj e e ol u\«m at__\¢\__\‘5\ u—AJuus dJ\oj\

,...!.;\
2% dala L4 e 38 AN okl Bl
"LS\‘;g U\-S p\Jbu\Q‘Jw-\_’y QC..& w&ﬁb\wﬁ

A= -?C’X-) 2252 uAA_: %Qﬂ»-—-.ML\La«m

LR SRARPEAE TN 25 &l @b(n) P\ -V

QA Q\}Aum;_-,.a‘r)
- A= -@CT) =

A= ch,:s)- 2%y SV adJ:A_WL\
. 33 %M\u—*u«_ﬂi\ 5 cL.@i\ 39 ‘&\/\-_\M A b\us\

La.&hs&\.\h?j ‘e_bjs*m) di\o_,.b ) \_.AM\ CRACYN V\? Y
SR SR U I D P R PP ER N E

CE e 5 yeasally e AN
- \/:-51(’2(-53_92) =AY ZE .

ey Lﬁ)‘w\bJ?%‘);w “3} M\_::\\\‘ W) \3\.9.\\ é -5

- LP)‘LO_.‘:U:QE
rPpst (M\ Q——>u ch\a (NG LST
- V:K%_ s K \SCOnSE

M\p -\mﬁ\e.&\ dlows dn) s boall i & ?us 8 3 9
AT NWRES A SRIPI _\mexkuaeldﬁwsmﬂ\
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.Fun@(:fons og ‘t&wo Variables. %:J\;S‘:R d\_g AV 13-

STOBI5 B 2 Gliiall soyallals 2 G1 QW e W
2‘\69?&-?-5-\25_3:;3-3»\ W9 2 Lo ikl g‘}gm (%58) a0
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